X
—
o
w

_ e}
Q 70 S 140F
er s T
e I Input R0=25.0, Sig=2.5, kb=0.1 £t
£ 60~ = 1201
O [ g) L
C s [
C i
50 " 100}~
40:— 80
30__ -
C 60
20" i
C 401
10 C
: 20
ok
_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I IIII|IIII|IIII|IIII|IIII
0 10 20 30 40 50 60 70 80 90 % 30 40 50 60 70 80
WET (mm) RO
= J -
10000 } 80001
;o f
i 7000
)D -
8000 1 -
1 6000
5000
6000 -
4000
4000 3000
! 2000
2000 C
1000F
OIIII|IIII IIII|IIIIIIIIIIIIIIIIIIIlIIIIIIIII :IIIIII III|IIII|IIII|III

c)O

1 | 1
0 1 2 3 4 5 6 7 8 9 10 0.05 0.1 0.15 0.2 0.25 0.3
sigma kb



	Contents
	Page 1


